With $\omega\epsilon\beta:= \mathtt{http://www.math.toronto.edu/drorbn/Talks/Hamburg-1208}$

A Quick Introduction to Khovanov Homology

Dror Bar-Natan, Hamburg, August 2012

Abstract. I will tell the Kauffman bracket story of the Jones polynomial as Kauffman told it in 1987, then the Khovanov homology story as Khovanov told it in 1999, and finally the "local Khovanov homology" story as I understood it in 2003. At the end of our 90 minutes we will understand what is a "Jones homology", how to generalize it to tan-gles and to cobordisms between tangles, and why it is computable relatively efficiently. But we will say noth- Example: ing about more modern stuff — the Rasmussen invariant, Alexander and HOMFLYPT knot homologies, and the cat-

egorification of sl_2 and other

Lie algebras.

A Quick Reference Guide to Khovanov's Categorification of the Jones Polynomial The Jones Polynomal: $J(X) = qJ(\)(\) - q^2J(\ \) \ J(X) = -q^{-2}J(\ \) + q^{-1}J(\)(\)(\) = -q^{-1}J(\)(\)(\) = -q^{-1}J(\)(\)(\) = -q^{-1}J(\)(\)(\)$

Khovanov's construction: K(L) — a chain complex of graded \mathbb{Z} -modules;

$$K(\times) = \text{Flatten}\left(0 \to K(\times)\{1\} \to K(\times)\{2\} \to 0\right); \quad K(\times) = \text{Flatten}\left(0 \to K(\times)\{-2\} \to K(\times)\{-1\} \to 0\right); \quad K(\times) = \text{Flatten}\left(0 \to K(\times)\{-2\} \to K(\times)\{-1\} \to 0\right);$$

$$K(\emptyset) = 0 \rightarrow \mathbb{Z}_{\substack{\text{height } 0}} \rightarrow 0; \qquad K(\bigcirc L) = V \otimes K(L); \qquad \operatorname{Kh}(L) = \mathcal{H}(K(L))$$

$$V=\operatorname{span}(v_+,v_-); \qquad \deg v_\pm=\pm 1; \qquad q \dim V=q+q^{-1} \quad \text{with} \quad q \dim \mathcal{O}:=\sum_{m} q^m \dim \mathcal{O}_m;$$

 $\mathcal{O}\{l\}_m := \mathcal{O}_{m-l}$ so $q\dim \mathcal{O}\{l\} = q^l q\dim \mathcal{O};$

 $-q^{2}(q+q^{-1})^{2}$ $3q(q+q^{-1})$ $\sum_{|\xi|=1} (-1)^{\xi} d_{\xi}$ (here $(-1)^{\xi} := (-1)^{\sum_{i < j} \xi_i}$ if $\xi_j = \star$)

Theorem 1. The graded Euler characteristic of (L) is J(L).

The homology J(L) is a link invariant and thus so is $Kh_{\mathbb{F}}(L) := \sum_{i} I^{i}$ adim $\mathcal{H}_{\mathbb{F}}(\mathcal{C}(L))$ over any I^{i} the homology J(L) is a link invariant and thus so is $Kh_{\mathbb{F}}(L) := \sum_{i} I^{i}$ adim $\mathcal{H}_{\mathbb{F}}(\mathcal{C}(L))$ over any I^{i} the homology J(L) is a link invariant and thus so is $Kh_{\mathbb{F}}(L) := \sum_{i} I^{i}$ adim $\mathcal{H}_{\mathbb{F}}(\mathcal{C}(L))$ over any I^{i} the homology J(L) is a link invariant and thus so is I^{i} the I^{i} and I^{i} the homology J(L) is a link invariant and thus so is I^{i} the I^{i} and I^{i} the homology J(L) is a link invariant and J(L). J(L) is a link invariant and J(L) is a link invariant and

